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	Scenario
	Force Calculations
	Work Calculations

	A 50-N horizontal force pushes a 10-kg block across a rough surface (µk = 0.12) a distance of 15 meters.  
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Draw the FBD Below:
	
	

	
	Net Force
	Net Work

	
	Initial KE

0 Joules
	Final KE
	(KE

	Questions: (a)  When the net work on an object  is positive, the object (select one)   slows down    speeds up    doesn’t change speed
                      (b)  What is the final speed of the block?

	A 10-kg block slides down an incline (µk = 0.10) a distance of 8.0 meters.  
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Draw the FBD Below:
	
	

	
	Net Force
	Net Work

	
	Initial KE
	Final KE
	(KE

	Questions: (c)  Which component of gravity does work in this problem?  (Select one)      Fg sin (15()           Fg cos (15()

                    (d)  What is the final speed of the block?

	A boy pulls his 22-kg wagon using a 55-N force, as shown, through a distance of 210 meters.  The coefficient of kinetic friction between the cart and the ground is 0.25.  

Draw the FBD Below:
	
	

	
	Net Force
	Net Work

	
	Initial KE
	Final KE

400 J
	(KE

	Questions: (e)  Which of the components of the 55 N force does work in this problem? (Select one)  55N sin(25()      55N cos(25()
                    (f)  What is the initial speed of the wagon?  

	Scenario
	Force Calculations
	Work Calculations

	A crate (m = 10 kg) slides to a stop.  Its initial velocity is v = 15 m/s to the right.  The coefficient of friction between the block and the floor is 0.40.  
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Draw the FBD Below:
	
	

	
	Net Force
	Net Work

	
	Initial KE


	Final KE
	(KE

	Questions: (g)  What is the only force doing any work on this crate?
                    (h)  How far does the crate travel before coming to rest?


Work Done By Gravity (Hmmm… Check This Out)
	Scenario
	Calculate the Ramp Length
	Calculate the 

Work Done By Gravity
	Calculate the Block’s Speed at the Bottom of the Ramp *

	A 10-kg block slides from rest down a frictionless ramp from a height of 5 meters.  The angle of inclination is 20 degrees.  





	
	
	

	A 10-kg block slides from rest down a frictionless ramp from a height of 5 meters.  The angle of inclination is 30 degrees.  



	
	
	

	A 10-kg block slides from rest down a frictionless ramp from a height of 5 meters.  The angle of inclination is 40 degrees.  



	
	
	


Based on the data you just generated, what does the work done by gravity depend upon?

Wnet = (KE = ½ m vf2 – ½ m vi2





Pre-AP Work-Kinetic Energy Practice
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*Is gravity the only force doing work?
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Pre-AP Work-Kinetic Energy Practice
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